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中国石油大学（北京）06 物化真题 
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四．计算题 

1. ¦§¨©ª«¬­® 06  ̄°
(A)±²°(B)³´µ¶·¸¹º»¼½¾¿ÀÁÂÃÄÅÆÇ¿ÈÉÊËÌÍÎÏ¿ÐÑÒÅÆÇÓÈÔÕ

20Ö× 

T/Ø ∗
Ap /kPa 

∗
Bp /kPa 

90 135.06 27.73 

100 178.65 39.06 ÙÚÛ
B
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2. %&'()* 06+ ,-
4 mol./01 750 K2150 kPa03456789':; 50 kPa0<=&>?9@;

100 kPaA./BCDE/F025GHIJKLMC 191.6 J NOPQRS KRSTUVWXYZQ[
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3. ~����� 06� �����
 2A(g)�A2(g)             ~15�� �

298K���������A���� 0,Ap � 21t ����� 

0,Ap /Pa   101325     45033 

21t /s      400        900 ��� ¡¢£�A ¤�¥¦§¨£¤A¥©ª«¬­®¯°±²³¥´� 
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298 K ����� !"#$�15%� 

 C2H6(g) C2H4(g) H2(g) 

1/ −•∆ molkJHmf

θ
 &84.68 52.26 0 

11/ −− •• KmolJSm
θ

 229.60 219.56 130.684 '()
C2H6(g)= C2H4(g)+ H2(g) *+)
(1) 298K,100kPa- θ

mrH∆ . θ
mrS∆ . θ

mrG∆ ,/01-'(2345678 

(2) 298K 9,/'(: θK  

(3) ;/'(: θ
mrH∆ <=>?@A,*+ 425 K 9/'(: θK B θ

mrG∆  C)'()
C2H6(g)= C2H4(g)+ H2(g) 

(1)   
θ
mrH∆ =52.26+84.68=136.94

1· −molkJ  
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mrS∆ =219.56+130.684&229.60=120.644

11·· −− KmolJ  

θ
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θ
mrH∆ &T θ
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